Bj6rn Wenneberg och Lasse Goldberg 001001

Defence againgt Séffle

Against pass = syson
Against 1C - Treats according to defence of ” beredskapsklover (2+ C)”
Againgt 1D - Acol (strong NT) (D=D/NT 1INT =C)
Against 1M - D =4-3M; opening

Against INT - According to the defence of weak NT
Against 2C/D/H - D =T/O D. Fourth posD=T/O.
Against 2S5 -> Multi defence

Against Magic

Against 1C - According the defence against two-wayclub
Pass (can be strong NT)
D =4-3 in mgor and opening hand
1D = Multi (strong D or wesk H or weak S)
IM =11-16 M, syson
INT=11+Cor D
2C-2S = Multi

Against 1 D - According to the system against strong C
D = strong overcal in one M
1H = wesk overcall in one M
1S=13 Cards
Int = two-suited

Relay defence
(Ix) —pass—(1y) - D or
(Ix) —pass—(2y) -D

- T/Oof 3+

excl 21+

excl strong 1C/1D — 1x
excl INT —2x

Then its lead preference



